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tillLLU'j 2 till ...,"'1a~lnn11 2 till Lda'l1'jluf!n1iW~Al1~f(~W'U5'j~""11~tillLLU'jtil~nGillLLi{1 n'il~51~1'j(}'VjiJln'jru

Al'IJa~tillLLU'j""~~'illntillLLU'je1nn~~...,~~ U n~W~nU1T111J1i(JI,"U6~~'Hl1~~ltt1J~iil~~ 1 ~1 (X) n1J~ltt1J~

~lJ1'H~fl~ltt1J~~tiluela~fl1JilUfl~ (Y) ~31ttUl "(,yJltilUti(u~~~ t~Dnl1 simple linear regression

1'Um')1L~')1~\i'm')t1~t1eJfJ~~ 1'l1'1U')LLf1')~ Excel ~1'1i1fJ1'Um')1L~')1~\i' ~-3,t'U ')ULLuum')t1~t1eJfJ~eJ"

y = ~o + ~1 x + E

.;11 a rJl~ rl1a~m~iLY1~l~~ Y111JJf(JJv"i'U5L~~Li('U~~~11~ ~1Y11'IJlfJti'U';"U~1-ii"afJ

.J' d1" " ..1
X: W\J'Y1 'I5~eJfJ (1eJfJ~111-3n~) 15 38 23 16 16 13 20 24,

~ ..
Y: 11Y11'lJlfJ (W\Jli1eJ~~11) 145 228 150 130 160 114 142 265

o'Q Q 0' Q 0' Q ~~Q
.a1\111f1n1R11f1RI1JUI~1ifUl1 RI1J::1nfl1~1ifUl11JJfnnfl1aflnn~11J
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,tu~f)U'Unl11ti111~"nl1t1~t1f)fJ

O')eJo'li'eJ3J"""-31'lJL'1f",-Jt111-3 'l ~l3Jlii'leJ,jl-3'1i'l-3~l-3"

, .;-
Hlrllt~aU x

n
LX
i=l i

n

x =

~:;1r/{ AVERAGE (B2:B9) Lvilf1U 20.625

1ilfili(aJ,j~~a't1rtll1ii(~.w-ufi (r) :

L(X- x) (y- y)
1 1

=

~~lvi caRREL (B2:B9 ; C2:C9) L'tilnu 0.716708

SSR =

~1f)~1 b" L(x;- X)2 ~m~lLLl{1,jl~'U'U ~~ 1~ SSR = 9733.792
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I t
1tlrtla3llJ~::a't1fim~D~Df}D (b,

b = y -bx

INTERCEPT (C2:C9; B2:B9) LvilnU 71.0249

H1F11iJltJ'i~a,.~m'iOilOi}fI (b

L(X- x) (y- y)
I I

b

L(X- X)2
I

SLOPE (C2:C9; B2:B9 ) LYilnu 4.641217

1I1YiliJltl1::dl1~nl11Uil (rj
v::M RSQ (C2:C9; B2:B9 ) Lvi,nu 0.51367

'Hli11 standard error of regression (s )
Y'X

STEYX (C2:C9; B2:B9 ) LvilnU 39.19121

.
'Hli11 L(X- X)2

I

DEVSQ (B2:B9) LvilnU 451.875

'H1Rl b 2

POWER (4.641217; 2) L~lnU 21.5409

1ilRl SS Regression (SSR)

b,2L(X,- X)2SSR =

"iJlnfil b, , L(X,- X)2 ~~lfilLL-a1'1il~U\J "iJ~1t;i SSR = 9733.792

H1Yil MS Error (MSE)

MSE = 8'
y.x

POWER (39.19121; 2) L'tilnu 1535.951
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H,ri, aoil F

F SSR/I
MSE

~ln~l SSR, MSE 'li'l~UU ~:: 1tJi F 6.34

'Hlr11 P-value

'iI~U FOIST (6.34 ;1;6) L't11nU 0.045

til P-value > a LL~~~il ~I = 0

MSE

L(x- X)2
I

s2(b )1

~lnfll MSE , L(X;- X)2 'li'l~U'U ~~ 1~ s2(b,) = 3.399062

1I1Al s(b )
1

"i)~1~ SQRT (3.399062) L'Yilnu 1.843655

'Hl~16'10f1 t :

bt = -;(t;)

~lnfil b , s 'li'l~U'U~:: 1t/I t
1 b,

2.517

'Hlril P-value

~::1~ TDIST (2.517 ;6;2) LYi,nu 0.045

t11 P-value > a LLa~-3il ~1 = 0
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L'jlul'1iv3;:!aJJ1LtifJULL~u.nlVim'jn'j~~lfJ (scatter diagram) l~fJ
..."oJ

1) U1LL()U'YIU'lJvUL'lJ~'lJv3;:!a'YI B2 : C9

2) L~vnL~~v-3~v III
3) L~vn'lf\1~n'jlvJ xy (Scatter) Ib

},
4) Lavn~la-3 ok

5) ~~ 1t;i~aflVi5 <;i'-3~U'lil-3~l-3

'itJ~ttn~~ 1 UflUtilil1t Uil 1,n um~ltil~l::"m~D~Dilfl t ~lJi16m~r;I~,1'

0 ,,'"
1. 'V'I~'V'IL11JL'V'I'OJ http://www.stat.ucla.edu/calculators/
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2. Y1~n~ ~~t/1 Correlation and Regression Calculator

3. w~w'lif)~~ ~l X 1\JAf)-a~fi~ 1 LL~::W~W Yll y 1\JAf)-a~fi~ 2 ~~f)~A-af)~n\J ~l~ 1~'t1.;J"
1 \J v1'1 f) f1l~

L~ f)f)~aJ yes L ~f)ril~\J~ 1-M~~f)~Li'i\Jt1~t1f)U

L~f)f)tlaJ Submit.

Input both Variables

Regression Unes in the Plot

~ Yes

rNo

~
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4. 'iI:;1~c.JGji\'W51i1'-3'1i'l-3~l-3

Statistics

=~~JJ~~I

~Y 166.750000
----
v---x 56.484375

V8rl81CeY
-
COYaIi81C8X..-lY

2368.6875001

262.156250:,

CooeIation X and Y 0.716708

Regres8Ia1 Y mI X
--
Regres8Ia1 X mI Y

~~

I0,1106761

Lines

y = 166.750000 + 4.641217(x -20.625000)

x = 20.625000 + 0.110676(y -166.750000)

Scatterplot

,. v ""
'tiU~61f)f)l~f)~

1J1J'VI1J1 ru 'j::1JeJ~ lLf.j1JU~lfil~eJ1JU'j::f)eJUm'jL'1fJ1Ji'lf1 ST242 t~iI~ m'ilt~'il~,tm'io~oilrltl1~tI1l~1IIJl':;1Ifi,
.~.J ~. ~ ~~~
~l~U'VI 915 \-I3JlrJL~'lJLeJf)~l'j 26007 m'jf,J~~LeJf)~l'jLL~::~l'jl3Jml'V1rJl~rJ'VIf)Mru.

.t:J1:;'~ 'VIeJ~U'1'l!l ~31i1rrl~iI~tl1~1191~~nii1l Excel 5, U1';'VIs/iL~~t;!Lf101t1J ~1ti'~ (3Jm'l!1J), 2538.


